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BEE0HR (RE2R1HERE BEA:F)
ERXRF I
X 4 N s o EEFIEE3:
R | REER | BROES TogEs | wr2es [ aERER
SRR T 3,854 3,120 734 392 929 2,533
ST 24E 3,621 2,882 739 257 879 1,746
R4 3,404 2,584 820 236 701 1,647
SR 224 1,493 582 911 161 137 284
(BR BRELVYRX)
B EFHEERENERUOHT (RE2R1HBE BEA:F)
N 4% [0.3ha| 0.3~ 05~ 1.0~[15~[20~ |25~ |3.0~|5.0ha
= 5% B #7E | &% | 0.5ha | 1.0ha | 1.5ha | 2.0ha | 2.5ha | 3.0ha | 5.0ha | Ll E
SERL124E 3,621 70 741 683| 1,271 489 217 96 37| 66 14
R4 2,584 -| 12| 5596|1071 447] 195[ 139 741 19 1
SR 224 582 23] 78| 166] 180 67 21 20 11 16
(BR BRELVYRX)
B EHHEBEOHTS (RE2H1HBHE Efi:a)
X & i H pi EE
SRR T 306,346 254,470 25,747 26,129
SERL124E 277,556 238,429 20,060 19,067
R4 261,280 229,252 16,627 15,401
224 236,051 219,203 6,410 10,438
(BR BRELVYRX)
B EEYOEMFEERTINES (Ep224281BIRAE Bif:ha-t)
X 4 * = e X = ERE
e mEiE | E S| e mE NEEEAEE| NEE | fEMmEE| NES | fENEE|INES
FR224 | 1,540 (8,490 687 (2,070 262 [ 700 6151260 36 [2190
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BEYRIENERY - fEtEE (BRFEEH) (ER2252818KRE BAL:F- a)
i %z ¥ WH%E =25 % B X
X & | B | MR (R R | 1B BT | FERE | B [ 1B 1B | £EE | £ER
EX | BE [BEXR| @ |ER| @ | BER | BF |[BER| 8% | BER | @%E
A HERT 36 1,910 1 X 2 X 5 X - - 11 X
REET 4] 1,033 X - - 4 515 - - 5 X
EHHET 29| 2,043 - 1 X 1 X 2 X 21| 630
 AHT 54 2575 - - - - 2 X 2 X 15[ 250
A NET 11 769 5 X - - 3 126 1 X 11 455
ESIER: ) 13 1,197 3 X - - 3 231 3] 108 14] 304
75 ) || 2 ET 58] 2,071 - - - - 2 x| 48] 2,833 21 X
1L T 70 3096] 3 X 5 X 18 x| 11| 1,000 40[ 603
L 5 HT 17 3,726] 13| 4,469 1 X 9] 1,505 - - 441 1,051
=t 292 18420 27 6672 9 22 47 x| 67| 4,053 182] 4,895
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BERBOBENBEERTHS (RFETER) (Em22E2B1RIRAE BA: 7)
BN A zomiEE] A E <Y 28 AES T F+94
I\
= % BIEFH| HERPH | BEFH | HEPH | REBEFH | BIBEFH| HEFH
EHERT 4 1 4 - 1 - 1
i) - - - - - - -
EHEHT 1 - 3 - - - -
= AHT 7 1 1 - - - 1
RAE | 12 2 4 = 1 m =
B)IIEHT 3 2 6 1 5 1 1
F)IEE| 5 1 - - - - -
LI R ET 6 1 3 2 3 - 1
b5 HT 35 10 1 3 1 8 1
Eis 73 18 22 6 11 9 5
(B BKEEL Y RX)
Z2ofEakn BRFEER) (CEm22€28181BE)
K 4 — AT BEEs _ &’ _ BRIPG o475
P | BB | P | BR[| A | i | R | P | R | PH
K HERT - - 1 X - - - - - -
FERT 1 X 3 196 1 X - _ _ _
=) - - 2| X - - - - - -
= AHT - - 21 704 512682 - - - -
E AT 2 X 25 984 - - - - - -
RIBE| - - 5| 215 - - - - T x
FIBH| - - 8| 402 - - - - - -
LI N ET 3 32 25 616 - - 1 X - -
b5 HT 2 X 30 963 - - - - - -
Eis 8 X 120 X 6 X 1 X 1 X
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W E OB RIRRT SERL234F (1A1B~128318 Bfir:#- a)
© % | aeme | soges | axme | 2200 | m om Z0H
| A || miE | A% | | | 4% @8 |4k mE |4k mE (4% ae
120 11,007 51 226 3 12 27 345 22 398 17 26
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